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Passage:

Teper:— SN Teliel ufdean uu fasearesaya: Ifaamy I forr ferad |

TS gdfey O yR sman) guS: e 2o ol T oMY JET: Faf<y W1 O T §: WdaT TRIAI: U TR S M Aol w11 gefe: araq anlt ol o eeue g 3ot @i W

THal g PRGN Goo: ToH TS| < o T S q-"Had: < Ay i T 2" Jgha: Iam9- "iE! T IaR: SgRedn: Af11 Tym: § I Iq 0 SR dar veifd | i 9% oF 9oy
FEITAT 38 a1 S Sia Aiepfod @ UM 3ia 1" GEfe: HSan a%d TR 39

Q.No: 1 ol gdfy el smam?

A A
B Bizeal]
C Ffeon|
D HTHN|

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

e~ SHefifeRad TR ufew@n W faseara® Ik eg: Siuaary S for faed|

T gdfSy &1 ofve omvaT) gaS: fawma v Sl IR S IERT: TAfRT W1 3 U9 O: el TR SR R S e ey 971 gfe: araq antt siiq) sifieiie sueee SgH s w1 9

el g B YgS: TEH S| SH-CHY o T YSA-"Had: S WY fb e 2 Jgfe: Iar- ) 7 TaR: SgResE: A | Tuw: A Iq 7 Rt ader e Rdt: Je: o Tl
FEITAT 378 a1 S Siay Aipfod @ UM Sia 1" GEfe: HSan 7% TROE: (e

Q.No: 2 gdfe: i o sfa w17

A TH BgAl
B SRR
c YTIIE T

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:
g:- srefeRad T ufd@n wym sk : Ifaars Sw fawr fawal

Fafe: gdfay & ulReT oman) g fawd Yo Sl 9 oM I JAfT W 3 T U: HdaT YA $aY WRA S Mk vafd 1 gefe: araq dndt ol oifieiis yas’ FigH Ioft Wl e

Tl gEf: PRGN YT TEH TS| HFEHY o TET Y- HI: e WY b 3w 2 g Sarg- i Wi 9aR: SrERaeT: Wi | UU: 0 ad WIH ORI wdaT &t fda: W o walq
HETIA 37E Wdal M= Al dlbfed T HAM sfa1" gufe: dear o= TR Siudd|

Q.No: 3 Hae: H<H WY b T[/EH- T UIST?

A R e
B @: I
C g
D $RwI

Correct Ans : B
Subject : Sanskrit Bhasha 02
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Passage:

- Siefred meiel ufdn uyH faseaeeaa: Sfaaary I fHrar feradl

TS ggfay o ufe! s gEs: fawne Ha SRiqI O SR IE: Jaf W S Ud T: AdaT AR SR WRA A FEE: Yol 911 i araq ol eiiq) sieiid sreeie ogH soi | wd

T3l g PR Yoo TEH ST SF=<HY @ T S70q-"Haa: < Ty T 5w 7" ggis: Sae- ") o0 9aR: SrgRere: AT | Tuw: g 9 I A1 SRTYI FdaT vaf fidia: 9e: o wai
HETITA 3¢ G o S Awfed 7 HAM 31 gdfe: ssan o )

Q.No: 4 i1 HH TaR: SFFRET: A1 IR FrallerTud forear fergal

A |
B AR |
c o

D Rl

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hoba:— S Teriel ufden uu faserreeaa: Sfaadry I fHrar ferad|

T gafey oyl oman) gue: fRwet 1o SRfiq) 9% 3 JENT: TAfRy W1 o TF §: WdaT TRtk S SR S E: vafa w1 gdfe: dreq dndt el et e adH sofi I W

TSl g PRI Yo TEH SATSA| SMEHY d TR S70q-"Haa: S [y % 5w 72" gafe: Sa- "o 7 Ja@R: SrERefdn: AT | Tuw: g I I I STRTYI Fda1 X&fl fida: §e: o 9l
TR 3¢ T o S Al @ HAM 31" gy 9 =R

Q.No: 5 eltw: f Ffa?

A R gt
B SIORTYT J&ifdl
c 3T &t
D T vafl

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

The:— SN Teli=l ufdean uur fasearasa: Sfaaday I for ferad |

e gy o ufa) o) g Rme o SRl 9%E SF% IERT: TAfy 1 O T §: et TRt Sy SR S FAm: vaf 1 gdfe: draq andt sl st s SdH s 1 W

THal gfa: PRI Yoo oH TS| SH<HY d T SY®d-"Had: HH<w Ay i o 2" ggfs: Iaa- " 7 IaR: sigRen: Wiy wim: g acd aq we SrRieTd daT vefd ) i 9% oF walfq
HETIA 37€ FdaT A= SIaly dibied T HAM 31" geie: S a= TRUMEn: Sudd)

Q.No: 6 Tirpied T M 37 YU fHH?

A A
B Y|
c )
D m)

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Webe:— oreffafed e ufdw@n v o e iaea: Sfadar I fuwr fagdl
g gafay o ufa! o) gas: fasme yay Siiq| O SR ST e 1 S Ud T: el THAr: Sy WRA S FHm: vafa w1 gdfs: araq andt o) Sifieiis sreg e g st W 9l

THal Y PRIGU g TEH SMTSd| HF<HY o THET SHYDq-"Had: e Ty b I 2" e Sare- "o 7 FaR: SIgRaeT: Wil | Ty: g W ad HIF 3ORTHI wdaT & | fdia: Je: @ waiq
TR 37 Wdal Ao SaIy dibfed T HAM sfal” gefe: Yo o= TRumEn: Sudd|
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Q.No: 7 ¥ - Ygwq ferad|

A M+ <Y
B = + |l
c M + I
D ARE: + b1

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

- effefae TRt ufen waE RAseaersaa: SR Sw i f@al

JfS: gefay B ufa! Sam) Yo faxme yaTy il G S ST Iafa W 3 Ud §: AdaT i Sy WRA A A vafa w1 gdfs: araq andt emiiq) sifieiid sregs gy sofa W1 ad

THal Gl PRIGRIG G o SATSq| = o T SY@q-"Had: A< Ay [ 5w 7" Igia: Iama- a7 TaR: SIERedn: Aiwy| TRM: § I Iq 7 SIR1eT 94ar Yaifd | fida: 98 o afq

TRTIdT 378 [T SHIF-< Sialy didied 9 HUM 31" Faig: Yl IR IRUAN: SUdq|

Q.No: 8 Tk T U UE

A oft
B |
[ and
D Uil

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Weba:~ efiad werie ufden waFi s aa: Shdand 3w Riar Rraal

O ORI 70N

O fiof urer aafRy g
ST Fagi Tl:
TEHRITE Ha-auT: 11

Q.No: 9 7o Y ToT *afxr?

A foy
B PRy
c 4Ry
D Ty

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

ez~ Sfefiffad ve afdear wami Recaereaa: Sfdany 3w R firaal

O ORI 7O

3 Prfor e Ry @ |
SRETEIAT: Fagf e
FUGHRITE Ha<auT: 11

Q.No: 10 ek fbewg: vaf<?

A SfRaTgT:
B &

c SRARFAT:
D Eici

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:
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Har:- i Taist e uym Reedere aed: IRdan Sw e fimad)

O TORY 70N

GAGCIURtIBRICIE KA1 A
SRETEIIAT: Fdgf T
FGHRNITRE W 11

Q.No: 11 T[uyT TR TN Haf~y 3 foramag formy off -

A qom
B TRY
c o
D el

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Hoba:- srelifafad v ufdwn wymt fiaererava: 3fdan 3w faar fergal

O IR TN

a fnfol ure vty g
SRR Fdgf T
FHEHRTE WA 11

Q.No: 12 o 3R faeiivae TaIfy oS-

A i
B :
c Fcra:
D S{oT:

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

b~ Sfefiferiad uerst ufdn T s e avsa: Sfdary Iw fawn fergdl

O ORY T el

a fnfol v aafy g
SR Uagf T
AN Ha=<auar: |1

Q.No: 13 WgH Tald & o=a: eifi?

A FRa

B SEST
C Juefa:

D K EEERINN

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

e~ SHefifiad uent ufden Tt fom e ravia: Sfdany Im fadr il

0T URY T et

o fefot urer vaf < |
SR Tagi el
JUSHTATE Ha=<aqaT: |1

TRy 3 & faufda: aifer?
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Q.No: 14
A L
B fxdftar
C T

D e

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Heh:— SN el ufdn Uy fdsearamea: Ifdan I ferad |

U IR TN 2y

T Ffof e aafRy g
STATIRIAT: Tagi e
TGHRITE Ha-auT: 11

Q.No: 15 ‘JTer {8 U F: TG SHiel?

A or
B «q
¢ iteyd
D g

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 16 "ZRIM: --- E-A gei Hfa" 3 Raarim i e agfame

A i

B o
c il
D Ty

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 17 'BT: TERf--- Jarer 307 Ry Jgfed o fboe

A R
B i
c e
D R

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 18 fffmq i &1 faufda:?

A agdt
B ot
C w5t

D RSt

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 19 RIwgE: 3fd U &: WHRE:?

A Liissre oy
B Tgehife:

c UGG
D YR

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 20 @y 3fd ugw &: WR-fawye: wyfa:?
A TG+
B Tq+TE:
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C T+T:

D TA+Tu:

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 21 eI Far Fexd T Riavra Iy Afkr?
A TEHISRY GlaEuH

B A YEHTHGART: T Hfereama: T

c U §R:

D wifggueTw fam:

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 22 IifIRIAY FY AFIaIHaaH SR TSI SR Ufshar gifad 7 FRAfa?

A Sif¥rafa: e siftiRon
B BEF Ui R1eHE TR
(o] SN TIBTE: UIe: Mg

D RrerpeiSatRian

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 23 ARy fapedy UraaemiA fbar Aki?

A T RIfR Siritery
B W Ule:

c B TR

D 3ife arat

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 24 fa, Ui difsdr, TatfaeH gamed: ||

A WFedaR IJYHRU
B TSI IUGRT
C TR SUFROT

D Wel: 94 [Awe:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 25 PRIy FYAY aq TR 4K afe A Rigagar 39 9oy T

A RPT: ToTES-ROY ¥y

B e AR e R SwdE HdR
c FRAR-3naRTERT iR Hafd

D T witd gafaRon s frat d

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 26 HHIPA-TRI&UIHI =Ty THH 3eH 3iRd I~

A A TG0 GEIYREE: §6d: WS $a 3fd: Yarf: 9
B A9 HISTH ey Hife=ae Sy

c T/ JET SRR SNYT 79 TY R

D A ST g WY R A vweatRy

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 27 AR -HRGUFAR ---- Hrn: sifterand wdd) Hecyef gewy -

A YMIRPUERTE: (Social inteaction)
B e3P (Textbook)

c ¥ o (Radio)

D REHIY: (Dictionary)

Correct Ans : A
Subject : Sanskrit Bhasha 02
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Q.No: 28 Teh: HgUIRd: TG 3AH: | HaH TTare fAfeqH wofa1 War d Sy Y S ?

A yaa Tt fifeg <rea are
B TaTe 7 o ey |

C P Taiet PR |

D Tare} Ak we ar 2

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 29 rfiEwaR B: It T: Fremon: < g7

A TERUIGIT:
B [gepritd

C THAE:

D HARSFEIST:

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 30 EOREUU HTNI-SHfTH-Tetf Hgwaguiy o
A HRRT-Reg-HfRIp armioy

B FETH
C FUARE: A RTEiHRUH
D ST AT YU

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 31 T BT Het F Reror el & & § e 14§
A F-uAsy

B urea-Taf

c weH foramg

D e, poff

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 32 UI§I & Geic H IR Iaie SfFd awd T8l el § i -

A oy = wag™ & g 3 S9d IR0 §
B Rier 3 Sl B T97 I &
c e B T HRIT A BT SR At § 5 =1 3w 1 T WS §

D ol oE At == § it T
Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 33 vl fRigr &l Jug [ &

A ST

B SRTHA-FA
C e

D T

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 34 AT & fHRl W 3y BETH ....... R G 3ifep 97 e S g1
A Hidar areeH

B T T
c Eauisrcal
D RER f: faran

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 35 = & § dierr BT 0> Jaiitied 41 Hgayqy 82

A & TR
B o 3 U & SR 3o 91 8 TSI
e At
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“1gN e

C
D AR TR T& s SR
Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 36 ‘R 3faTe R & ®M W i wror Riewr 39 S usfa 3t snavaswar aduum fea yfamfe 12

A ST A

B S faferawa
C S HRhEE 3
D ot dfRew 3

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 37 fmfafaa & 9 vy dielt & oo dray SR AfwTels Qi o1 Jor gan ?

A ErNl
B SSTHTST
C faeft
D gt

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 38 i & A 7w &Y 3 &fieh Siia & el 3ifiie fpan -3 et vget 82

A S Bt
B forgm 3
c g @t
D g @t

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 39 A= & 3 fora RRaTt 914 SieTues &1 58 a1d 3 e & @1 a1 2

A BTl & Yo7 T ¢ IUGH |

B forg & W qofHTer 1 SRU FRAT AR

C SIS B WY G A =1 & G TRGT FIAT ey

D BT & o7 BT G UK oY, v # qdorm JUMATT T SRRy SR AT Ve ST B W HIEK UaH ar=it & WHT IRgd AT IR

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 40 aiiexf I & Usiid HH-1 dreH Haad ¥4 & far St =ige?

A fayrg arem
B g are
C SFTFRO A
D 1o A

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 41 IUERIAS R0 H FHadr (2R Fedt 82

A g 9 @ |

B TSl & FRON F T TGIH N
c STARTH fRigor ot it )

D Wi el & 99 R

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 42 Ixafy Heaice @t AQwdie 7l §
A ST 3R SEgIRGdr

B Rsyrfigar ofR Serar

'c TRIFEAT IR fadewrt

D SeagIe 3R Ju

Correct Ans : D

Subject : Hindi Bhasha 01
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Q.No: 43 FmRifEd A1 % W)l & Gad BT P § 2

A S
B s
C ot
D HIEE T ST

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 44 1 Riefor & il yoa Ters Gt &1 SuanT forad gar 32

A = foEa o
B [E U H
c & SERY HA 7
D & g wd feren #

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

&= 2 g g i B ygaR 4R Y U & 9eY I SR ard fided 31 9o Sifvig-

SRY H AFAIAIE AHAa B R0 3R 69 o B & 17 7e™ 3R IR AR § TR o ol dafias) ok wifee 7Rl & 79 § 39 oexf o7 T 9gd 81 3aR oI, TR JagR § T B IgRal $ad &
o Wit RERl 3 € 3ust A gar A § off A Ne-wlRy & wel § 9d7 Saq-erel 51 v | wrdarare W e, aferd, sieufadl iR IRl & wla Werpyfa &1 Hia o s, SR ry-wy It o ¢
F Ay I I B Tgraar ugars | o Al & o Wl § ofR R e Tufty A B, SHeT SiaR WgeR BT 11 U IR dl [SHAT deedt TS 9fR gt IR Iad B 3 garaw Bt gl W ugd o ot ¢
IR fean 39 TR Ay & Atenn H f[ipa w9 # wEeR 8 93l

Q.No: 45 Sudad Teiw & ferw fr & I S i &1 957 Fife-

A THE & I BRI

B TFEAEE

o T T S : T fawear
D IS 1 garaRT

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

g A fw T T B ugHR IR U Al F e Sfd SeR Al e 31 99 -

SRY H AFGdrdTe THTd S 0T 3R de Jad B $ ¢ AgH 3R IgR SR § Tferd g ol dafias! ok At Tl & o7 § 39 91exl & T 9gd g &R U1, TR JdeR & T7™ &t IeRdl $ad T
I Wi AR 3 € Ius A gaR A off T SHeT-uild F Wl § T Saq-3iexl o 03| wHadarg o s, aRewd, siuufidl oiR SRt % wit e @1 ua of s, SR Y-y e o ¢

F Ay B ggi A Ygraal ugars | o ol & ura Wl @ ok M ur [ufty il B, SHeT SiaR wgeR giar 11 Ue oW dl fwwdr agedl 78 ok gt e el o0t 3 garawn ) 3gell W ugd o ¥ ¢
AR fean 39 USR AgsIar &F AigH f fdpa w9 F wder 8 34l

Q.No: 46 1 # § 5 Tree-gm &1 TaT Suda TR H T foean T g7

A 3fg- 3
B fR-eiY
c qgd-9gd
D Y-y

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

fd=r: 2 faw e iy Y ugeR g T U & wed IR SR A Reed o1 9ae sifve-

SRH W AFIIG A B! 0T 3R de Tad B $ 1T A AR ISR MG § Tiid gl ol dafiae! 3R T ARl & w7 7 39 el & T 9gd €1 3R U1, R oJagR & 799 $ SeRdl $ad T
e yfaita Rar) @ € 3uw 4 gar o & A A Aar-wifte & w3 57 dfaq-eresd w1 w1 AFadmare W o, g, sterufadl iR IAR & ufd weryfa o ura ot sm; SR wry-wry et ot ¢

F YA Bl Sg F T Ugars | o A % U Ui § SR Rre ur wufty T §, ST SiR HdeR g1 T U IR A1 AT dgdt 78 SR GO TRW Tt $t 3t garaw F 3geh W ugT o
AR fean1 59 ueR Agsyar 3 Afgnr +f [ipa w9 § wiex 8 3dh

Q.No: 47 IuHad e & T &, AFadT & I<g T IRON A T o1 ?

A TG B N Y o HRAT

B T Y 47 & o BT

(o TG S 0T 3R e F TR DAl

D T Pt AR TR R THE T B

Correct Ans : C
Subject : Hindi Bhasha 01
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Passage:

e 9 g 1Y T $ ugeR P Y Ul $ Hed Id SoR aK faded B 98 Biig-

3R T WHFIAIaIE AHFGd $I N0 SR du7 Jod B & [ 7 SR IR el § Fiferd gon o1l dafias! R wifee Al & 77 # 39 ey &7 ¥ U 98d € I3R I, TR FdeR § 779 3 SeRdl $ad T
@ TTieriter faart @t € Iue 1 TR 3w K off T Sew-wifew & wf & T Sfa-enes 5 a8 | Adaars off o, e, sreufial ok SR & ufa wergayfa T wa oft sm; SR wy-wy e o ¢

F FIYH B T | Tl Ugars | o Al & U JuRT § ofR fod urd Suf e ], ST Sk 4adR gial 11 TF R dl [auHar Sl T8 SR G aRW IALHTAl B &dl GAaRA $I Ggel R Ugd B I §
AR f3a11 39 WhR wgsdl B AfgHr i [dpd FU F HhH 81 3311

Q.No: 48 fmfifa & ¥ Utoar o 5= H2 ga ?

A 9 ISR AFTAEIE U I B aRkfy F il g mm
B AR A TLHE BT IR0 R 7 A 1

C TS WG & RIF W A $1 Aed 9 Tl

D S ATYF T BT UG TRH 7GR R

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= F2 fow U i # ugHR IR U Ul & el IRId SaR a1d fased 31 9ue Sifie-

RY H AFIAIATE Al B Q07 3R §eF o SR & Y 7gH iR IER Se=il § =i o ol dafias! ok wiite 7-ifgl & a7 7 39 o=l o T agd g &R oI, TR JagR § T35 31 IaRal ad T
% it ARt @t € I ot gAR o ® off A Sia-wifea & Wt & T Sfiaa-sresl w1 a1 AFadmre o s, g, stufadi ofR SRl & ufd Terufa o via oft smm; SR wry-wry i ot ¢

& Ay Bl Igi A Gl ygar | o Al & o Wt ¥ ok R e Tufty A R, ST SiaR g gl 171 U aR% d fIwa dodt TS 3R gt aRp Iiaar ot 3t garawn Bt 3gelt W ugg o O
AR feanl 9 USR Al &1 AfgH +f fapd w9 # ydex 9 33t

Q.No: 49 fH & | GEraRT "7 R F Sil g1 1 7 oidf g2

A Figre o7 weR 7 S
B F FierH ¥ R 7@ it gume F
c i g1 ugarr

D S aree g

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

e 9 fog T TR B UgHR IR T R % Ged Sfd IR 9 fded o1 797 Fivig-

SRY H AFGAIATE AHad ST 0T 3R 87 o B3 & 1T 7gM 9R IaR SRl ¥ i gor ¥l dafias! ok wifte 7Rl & 77 § 39 siexf &7 T 95d 8t 3eR Yl, TR agR § 73 &I IgRAl $ad T
I et R @ € Iuet A gER 3w # off T SHaT-uiRe F wef & T Siaq-erext o 031 Aeddare o e, aRewd, srufidl iR SRt % wiy sl @1 uia of e, SR Y-y e of @
F UM BT I A Tgrdl Ugars | 5 il & U JuRy § ofR e U [uf el §, ST Siak HddR g1 11 TF R dl fauHar dedt 78 SR g8 @ IAgd 3t &dl ATl St gl R Ugd &R U9 ¢
IR faan1 59 ueR Agsrar & Afen o Ripa w9 7 e 7 38t

Q.No: 50 Iuda TN & SR, W HYH BT 47 DIIT-

A TAR W & oft T et & W & T - emesf wm a1

B R Rt & T TRy ¥ SR RS U YRty T 7, ST SR w2 Tl

c ufteh 3=t Tt 4 & 959 TR 3 e e ¥ s gRenivh ok Ry ¥ geon o 3 i & o1y ) el § Serd T8l ugars|
D HRY N GGG TG S 0 SR €6 Ga PR F R 78 R IgR 1ewl | =i gor an

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

A= R few U T B ugwR IR T Ul F el IR SaR A fased a1 99 Sifvig-

SR H AFGIAIE HHGd $ R8T 3§89 4o SR & U 7gM ok IgR sirexil | =i gon o1 dafias) ok wifte w-ifdl & a9 7 39 oesf &7 U §gd 8l IeR Yl, R agR § 1™ &1 IgRal Sad &
% it faart @t g 3uw ot g ot & off A ar-uiiRa & & 7 Sfiaq-snexf o | Aradmre o o, g, srufadi ofR SR & ufd Fergyfa o wra oft s SfR ary-ry i ot ¢

¥ gy Bl SgH # erar Ugars | R A % urg wai § iR R are a1 ], SHw1 siak Haex g1 T U R At R ggdt 78 3R gt (e Iediar 3t 3d) garaw @t dgeh R ugg o 3t s
IR e T WoR wgwar 3 Aty o figd 9 F weas & Sdt

Q.No: 51 = # § -1 e “HigAT 71 yafgard et &2

A et
B afemr
C R
D warg

Correct Ans : B
Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/42
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Passage:

A= R few U T $ ugwR IR T U F el IR SaR aK fased a1 99 Sifvig-

SRY & FHTdrarE AFTdl B YN0 3R §87 Gad S & [T TgH SR IeR ARl § 1ferd geim o1 dafias! oiR Wifige Al & 17 § 50 3ex &1 U 9gd 81 38R U1, R deR H A9 B SRl $ad T
I Wi R 3 € Iue A gaR A off T HeF-uRa & Wl § T Saq- el o 0| wHadrarg of s, aRed, sieufiel oiR SRt % wiy v @1 ua of s, SR Y-y e o ¢
F Y &) ggiM A YgrIdl ugars | o il & o el @ ok M uri [ufty il 8, ST Siak g giar 11 Ue W dl wHdr gl S ok gt e edlaar a5t 3d) garawn o) 3gell w ugd o ¥ ¢

AR fean 9 UeR Agsar &F AfgH W fdga wu F wdes 8 3l

Q.No: 52 IuYa T & ER, T g F R Gl R Ry F gem ad @ 3 & HauE B 9gm § gerd ugas |

A odf A= & I T & g VAR |

B SfEoRt 3= F T U F S5 R A
c ufgredt =i F T UieT & g TR A
D SRl =it H SIRI HIaT & GURER 7

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
& SR BT YR G T U & a9 3Fd I<R ard fased &1 99 Sife-

B Goal g U1, 5 $of 3R 77 )

T T g9 o1, 7 §F $ 9 Hli
q 38 T Tl &Y, Tl goRar ATl
H o1 g gar, Iia # e F

AR e @1 o, gRAH B R W Y
# gre Sigar 41, W e Tw= H
TR 5t & sifg, B ferg s q
T ft ot A9, 7@ W SR e A
I oo R, & U1 g3 R
qq A gl AT, ufdi & e Hil
B o1 faved ged, o 3 st W
I R @1 U1, 79 q bt ua= d
99 R gefi &, g d @1 Ml
<l e o1, gear wet 9w dil
T Rar swT arawR 7 e W H1
TFH F T o, o o HEF H
AR gar Rydex &1, § qH T Al
TR QT 3T AT, TXET& Hied Al

Q.No: 53 11 % & Iue ufdkrdi & T@RIar &1 1 FdEy-

A RS e

B weredt auf

C wia Pt fARiar
D Tert Rig feTes

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FET: PRI BT UgHR TP T T & Gad SR IR A1 aped @1 95 Pifve-
H goal g U1, 51 ot 3R a7 Al
G g oI, 79 & & TG Jl
38 & foh el 1, Yoipl YepRaT oIl
B o1 g g, Iid # HeE F

R fore st o, g F ER WY
e Siigar o1, O et = F
TR el & offg, MRL s q
i@ @it ff A4, 79 W SR o= Hil
1 Fonaen 3, H o1 g R

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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T W g T, Tl & e Hil
B o1 faRed g2, S 9 e W
I 4R @7 o1, 79  feeht wam Fn
Jag M goft &, qdfm d w1

vt S o1, g Pl oA H
T fear sriet srawR 7 fire v #
G F T or, & oRd o FuE Hi
W e RydeR B, B wH @I A1l

TR Q&I 3T YT, BIEIE Blgep Hll

Q.No: 54 = &  favad &1 AW =g a1 27

A fogm

B SR

C rafRRiedl
D FerfH

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

R PR FT UgHR ID U UHI & T IRIT Sk a1 fadbed o1 907 Siforg-
# e g o1, 99 P 3R 77 Fl
o 9 T, 79 <9 $ weT Al
q 3 & Tl 31, g goRar Al
B 1 g garan, Jid & we

R g @1 T, PREA F R WG
& F1e Sigar o1, o ot 7w #
ey fadt & aifg, W fere e
i@ @t ot AR, a9 A SR o= T
o Faen R, T or g R
e TN gl T, ufdidi & WeA Hil
B o7 faRed e, S 9 aiferar W
I R 36T I, 79  forddt v
J5g MR gaft &, QA @1 U

A @ @ o1, geoar el == Jil
T Rar st s 7 e g #1
U T T o, F R o HUE F
W e R @1, & 0 @1
TR T g3 UT, BRYIG Do Al

Q.No: 55 Iuad Tl & STER A @ ¢ ufdd 31 oof Fifere-
T e SR siawR 7 fire g #, Q@ # w o,

A A 3R o Hl
B it 7 HeE H
c & IRa U1 HE H
D oferdt & e H

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

& PR BT Tgax IR T T & Fa Sfd IaR a1 faded &1 79 Pifere-
# godl g U1, 5 Hof 3R T A

o 93 T, 79 < $ weT Al

q SR &1 5 1, g3l gpRar ol

B o1 g gamar, Sl & we F

R R @ o1, 3R F ER WG

¥ are Sigr o1, R e a7 H

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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TR ol & offg, MRm g
A wft ot A%, 79 9 SR o= F
I oo o, & o1 g R
e o T g T, ufddl & "ied Hil
A o1 faved gel, o 3 et W
JUM 4R @1 T, 79 ¢ fopet g #
J99 R goft &, g d w1 M
# vt S o1, g Pl A H
T Rear st srawR 7 e g H1
qbH § A o1, F o o1 by H
1 v RdeR @Y, B aH @1
TR QST 3T AT, TREIE Plgp Hll

Q.No: 56 f1e & q S o1 o a1 82

A W Gl
B W R T F RRE S
C TSR I ST

D 2 R

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

I PToIR B UgaR UP T URAl F Ue SFId Saik al fabed &1 I5 Bifene-
B gedl g U1, 51 ol ok 9= Al
Qo g3 T, 9 < $ ge Hl
q 318 T el &1, TSB! IHRaT ATl
A o1 g garan, i & e Hi

R e @eT o1, 3R & R R G
e Sirgar o, o et = F
TR [l & o, M Rm =T Q)
i wlt off A9, qa A SR o= F
1 Fonaen $, H o1 g R
TS T gl T, ufiidl & W6 Hil
B o faved ger, o 9 st W
I W 6T U1, T«  foddt o= J
J9g R gsfl &, g d w1 M
<t Tgar o, b1 Hel WA Al
T Rar st srawR 7 e g 71
U T T T, § I o1 S FN
R el RispaR Y, H wwe 381 41
TR QST g3l oI, BRgla Higdh Hll

Q.No: 57 diifad ‘g I T Sgex I &7 3 T g2

A gd ST S U1 A TR A
B IR § 3faTd
c T B 9G¥ A o A

D g § g/ v

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

T Freai Bl UgaR P T URAl F Ga9 S SaR 9l fAwed 1 99 Sifen-
B gea1 g o1, 9 ot 3R 99 )

q ierr g2 o, T % wed Hil

q 3% & el 31, gl gHRa Ul

B o1 T g, iia # o= i

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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R fore wsT T, g & R W
a1 Siigar o1, o et = Fi
TR [l & o, W Rm =1 QU
3ffQ it R A8, g9 7 3R o= Fil
1 Fonaen 3, H U1 g R
T T g T, uferdl & e Hil
B o foRad G, o 3 st w1
I R TG U1, 79 G b gaq w
Jeg iR galf &, Y A @ unl
A Tt A o1, gbel el WA H
o fear st sraeR 7 fir wer #
B & T 1, & o o7 B F
w1 e R &, I8 @1 41l
R G ST Gl T, WREIG Higep Hll

Q.No: 58 Iuga I & SFAR = & S vl 1 oof Sifre-
S S-Sl $Y, 7 o1 g R, ad qam gei o,

A T R o F
B it & wer H
o # g o1 Y H)
D afrell & e H1

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

=T BT BT TR IR Y T & G SR Sk a1 iweq BT 97 FiT-
A gadl g U1, 5 $of SR a7 A
o g9 oI, 79 &F & TG Jl
q 38 & bl 3, gl YpRaT oIl
T o1 T garrar, iia & o= i

Y forg st o, g F ER WY
e Sirgar 41, o et 7w Fi
FIH ol & offg, MRmswI QU
i@ wft ff A9, 7@ A SR = FHi
Tl ST F, T o gt R
9 T gl T, uferdl & e H i
H o foRad Ge, o ST W
I R 36T U, a9  fddt ga=
Jag R gaft &, I A @1 U1
@ Sl o, gebl bl WA Wil
T far st sawR 7 e wer Al
b H T T, § I o1 B A
W1 e R @, & wHe @1
TR ST 3T oI, TREIG DIgd Hll

Q.No: 59 4 & q Tamg # HH-91 AN 8?2

A TGTY AN

B B8 9

c o W

D ST TN

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 60 T & & e 1 arar Hd Rien wrr sar B, siw
A AP P 4, TR T ARGRY B Trufrmar T § S R
B
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c Haa TP P [T P wruftinar S B
D S ara® 31 2AfgRy @) urufied @ 2

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 61 What should come in place of the question mark (?) in the following question?
2466879

04x18+02x12=7?

Fafafed oy & uyae® g (2) & ®IA R 1 3 Age?

04x18+02x12=7?

48
A
48
46
B
46
42.4
c
42.4
43.2
D
43.2

Correct Ans : D

Subject : Mathematics

Q.No: 62  What should come in place of the question mark (?) in the following question?
2466951

(42x 213) = 39261 =7

Fuffad oy & vyars [ (2) & RIF W 31 4 AR
(42x 213) + 39261 =7

418
A

418

426
B

426

420
C

420

436
D

436

Correct Ans : B

Subject : Mathematics

Q.No: 63 What is the least number to be subtracted from 945 to make it a perfect square?
2467076

TH QUf @i g & f1g 945 T I ge arel Gt BIET TS 1 57

16
A
16
30
B
30
24
o
24
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Page - 15



45
Correct Ans : D
Subject : Mathematics

Q.No: 64 02 12 — 4)

2467814 On simplification, —_——— gives:
XS +X=2)x“-x-2)

WRm R, _ W)y

(X2 = x-2)x? —x-2)

(1]
A
(1]
1
B
1
x+2
C
x+2
X+2
x=1
D
X=2
x=1

Correct Ans : B

Subject : Mathematics

%1'\‘607:86352 Solve the following:
G- _,
5+7
farafaf@a srgaat
G -2 _,
5+7
-4
A
-4
-2
B
-2
-1
C
-1
-5
D
-5

Correct Ans : B
Subject : Mathematics

Q.No: 66
2467910

T S & TS IS UTT0.1 §1 HTE:
0.0009

0.0009

B 0.01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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0.01

0.00009
C
0.00009
0.09
D
0.09

Correct Ans : D

Subject : Mathematics

Q.No: 67 /6087 is equal to:

2467933
/6084 B IR %:
79
A
79
78
B
78
77
C
77
70
D
70

Correct Ans : B

Subject : Mathematics

Q.No: 68 X 121
2467980 What will be the value of E?

2L 1A g g

0.162
A

0.162

2.75
B

2.75

16.3
Cc

16.3

0.16
D

0.16

Correct Ans : B

Subject : Mathematics

Q.No: 69 The cells of a bacteria double themselves every hour. How many cells will there be after 8 hours, if initially we start with 1 cell. Express the answer in powers.
2468284

T SaTy] &1 SR B 9 U MY Bl I B el § | 8 92 & 18 fopart piRIepTd 2ft, SR 31 Yoo & 1 HIfIPT § L& Fd &1 SR &1 Uil § g Fifig

A
25
B 216
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 17142
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28

Correct Ans : D

Subject : Mathematics

Q.No: 70 The sum of digits of a two-digit number is 8. If the number formed by reversing the digits is less than the original number by 18, find the original number.
2468301

3 ST B TP WL & 3 $1 40 8 7 | A 3Pl T Iae W o+ WS g TS A 18 FH B, I@ TS J1d Pl

44
A

44

53
B

53

35
c

35

62
D

62

Correct Ans : B
Subject : Mathematics

Q.No: 71  Which of the following statement is correct?
2468562
(A) Inductive method proceeds from example to formula

(B) Deductive method proceeds from abstract to concrete

T & 3 SF-ur FuF wd 32
(A) SMTATETS AR IaTeRU & G a@ om) dget 31
(B) A fafey epgd | 31 b S el

Both A and B are correct

A 3R B 3FI W& §

Both A and B are incorrect

A 3R B 1 e §

A is correct and B is incorrect

ATHRIRBITAR

A is incorrect and B is correct

AT AR BERE

Correct Ans : A

Subject : Mathematics

Q.No: 72 The Greek philosopher, Socrates is the exponent of
2468623

ety Fyfuee §

Lecture method

e 3y

Nuactinn_Ancurar mathad
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WUTIUUVII-AIIDWET 1HISUIvU

B
TH-I A
Tutorial method
C
TRiRaa fafy
Demonstration method
D

v Ry

Correct Ans : B

Subject : Mathematics

Q.No: 73 Rahul has a bag. In that bag there are 1300 coins of 25 paise and 150 coins of 5 rupees. Find the ratio of the value of 25 paise coins to the value of 5 rupee coins in that bag.

2469686

EE & U U 1 37 1 H 25 T F 1300 Riad ok 5 30 F 150 Rigd §1 3T 31 F 25 T & Riga! &1 g1 31 5 303 & RGaa! & Ied § U F1d S|

40 : 27
A

40 : 27

13:40
B

13:40

13:30
C

13:30

10:13
D

10:13

Correct Ans : C

Subject : Mathematics

Q.No: 74  Which one of the following is a polynomial?

2469952
e & 3 BiF-91 ' 9gUe 97
x= 2
2 x*
A
x: 2
2 X2
2x—=
B
2x—-=
3
5, 3xT
XT—=
Vx
Cc
3
5, 3xT
X+—=
Vx
x+1
x-1
D
x+1
x-1

Correct Ans : C

Subject : Mathematics

Q.No: 75 An expression which contains two unlike terms is called
2470023

T T ol &1 SRIHH g g &, Held 3l

A trinomial

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

19/42
Page - 19



o

monomial
B

THUE

polynomial
Cc

wgu

binomial
D

feue

Correct Ans : D

Subject : Mathematics

Q.No: 76 Find the ratio of 35 Paise to Rs.3

2473319

35 99 R 3 T P SFUT I BT

6:70
A

6:70

7:60
B

7:60

5:35
C

5:35

35:3
D

35:3

Correct Ans : B

Subject : Mathematics

Q.No: 77 A box has 210 coins of determinations one rupee and fifty paise only. The ratio of their respective value is 13:11. The number of one rupee coins is:
2473418

0w 3o & v vud ofk e B9 & 210 Ridd g1 S Weiflid Hew &7 Siguid 13:11 3 < Ua Sud & el ot e i il

65
A

65

66
B

66

77
C

77

78
D

78

Correct Ans : D

Subject : Mathematics

Q.No: 78 Modern Teaching models have been classified into

2475520
aneyfe e s 3 i R mn §
Two families
A ERCLE
Three families
® A e
Four families
¢ L E
D None of the given options
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 20/42
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T T et 7 ¥ B T
Correct Ans : C

Subject : Mathematics

Q.No: 79 The introductory question should

2475533
RS T T ARY
be based on previous knowledge of the students
A
BE & fUod 9 W snuila &
difficult
B
PfeT
C have no linkage
IS W&y
D not very easy
TEA M el

Correct Ans : A

Subject : Mathematics

Q.No: 80 Which two signs should be interchanged to make the given equation correct?
2479397
13+7-5%x4+2=46

U T TR B wEl S & o 6 ) 7o @1 oo F Sgen S @fee?

134+7-5%x4+2=46

<+ and x
A

+ 3R x

-and x
B

- 3R x

+and +
C

+ R +

+and -
D

+ 3R -

Correct Ans : B

Subject : Mathematics

Q.No: 81 If'-'is represented by 'x', 'x' is represented by '+', '+' is represented by '+' and '+' is represented by '-', then what will be the value of 80 + 79 x 12 - 56 + 28?
2479450

T - B % GRT, 'x' B+ GRI, '+ B+ GRT AT+ B - GRS S €, o 80 + 79 x 12 - 56 + 28 BT HIF 34T QR

15
A

15

20
B

20

25
C

25

30
D

30

Correct Ans : C

Subject : Mathematics

Q.No: 82 Student can design a laboratory according to certain specification in which category of objective?
2481347
Tarenf o Aroft & Sz § Ho fafRigarsit & SER wHRTer SO SR G 37

A Analysis

B Synthesis
|
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Evaluation

Cc
TG

D Knowledge
Lk

Correct Ans : B

Subject : Mathematics

Q.No: 83 Effective instructors teach students strategies using minimal responses,
2481421

recognizing scripts, and using language to talk about language. These strategies help students learn to

TG UiRIERE AN Niafharsit BT SUET $Rd gUBE B M R €,
it T U, SiR UIST & SR F 91 A & o7 YIS T AT el & Juiifoat B &1 W & Heg o §

A speak
B write
c g:::"

Correct Ans : A

Subject : Mathematics

Q.No: 84 A suitable approach to introduce Coordinate Geometry in Class IX is through the use of
2481437

Fe 1X H ez iy &1 uiea 33 F Rt Suge Iuvm & 9 & mem d

Solving problem

T BT T FEA

Demonstration using technology integration

TN Tt ST SUanT B Hew

Lecture method

e faf
D %;l%play
Correct Ans : A

Subject : Mathematics

Q.No: 85 Ideal ‘waiting time’ for getting response from students should be proportional to
2481731

SET  vfafhar w3 & Ry smexf wdten T & @ S @Ry

Difficulty level of the question

A Y I HIeE "R
Time allotted to specific topic in the curriculum

° T & R R % Ry s
Relevance of the question in the real life

¢ s < 3 o ) s

D Time taken by the students for answering questions from previous lessons
fredt urgt & sl & IR 37 & et grr fern mar v

Correct Ans : A

Subject : Mathematics

Q.No: 86 which of the following would encourage the least a student who wants to become a highly creative theater artist?

2481831
ffifed & 3 o1 1@ W B 31 31 3 $1 Ted 91 S U6 S THIES [UTek SAGR S I8l 82

Try to win the State level competition that will ensure you scholarship

A o SR ) 5 T 5t R 1 SRy g €l
Develop empathetic, amicable and supportive relationships with your peer theater artists
° S0P R el 5 e SR, Sherda o e i R ot
Devote your time to those theatrical skills that you find most enjoyable
¢ S T T AR & o S R o A T o A A &
Read about the performances of the world’s best theater artists and try to learn
D

T & T9Y R FareRt & ek & aR ¥ ug ok die 3 iR a5
Correct Ans : A

Subject : Mathematics

Q.No: 87 what should be the basis of an effective and successful leadership ?
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2482313

TP UM SR THd A BT SMUR 47 G 1T 2
Personal interest

Sfdra ¥

Service of the group

g 3T AaT

Welfare of the whole group

W R FT Feml

Praise

D YR

Correct Ans : C

Subject : Mathematics

Q.No: 88 Great educationists have accepted mathematics as a symbol of
2482355

Her Rianfae] 7 fvrd 1 ¥ ydies & w & WoR far g
Human development

g farr

Subject development

forwg feera

Education development

TR o

All of the above
SR & i

Correct Ans : A

D

Subject : Mathematics

Q.No: 89 Projective techniques are used to measure

2482551
........... T ¥ ferg wardt qen-iiet ot v foar e € 2
Aptitude

:

Intelligence

Bl

Knowledge

E

D Personality

|

Correct Ans : D

Subject : Mathematics

Q.No: 90 The number of prime divisor of 960 is :
2483826 960 & srurd fyunis! o T dnfi:

A3
53
© n
°

Correct Ans : A

Subject : Mathematics

Q.No: 91 Biofuels are blend of which two forms of alcohols?
2469511

Fd oA, SHITA DI A 1 T BT T §2

Ethanol and methanol

A

e &R fuere

Ethanol and propanol
B

T SR AT

Methanol and propanol
C

e iR T
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D Methanol and isopropyl alcohol

Fuefter SR SRR Srpied
Correct Ans : A

Subject : Environmental Study

Q.No: 92 A greenhouse gas like CO3, absorbs:

2469546
& NeTEr3d 39 S CO,, aefig aard:
heat
A
ff
moisture
B
T
oxygen
C
SffefierT
hydrogen
D
TG

Correct Ans : A

Subject : Environmental Study

Q.No: 93 A 'carbon zero' or ‘carbon neutral' area is:
2469549

TP BT ' AT DI ISR 8 8

The area that produces more energy on site than the area requires

A
5 &7 O U W G  fF il Uar Fe §
The area where net amount of carbon dioxide emitted on site equals the net amount of carbon dioxide utilized by the area
B
T8 & el Wige W IR PTE- SRS F ek TH 85 GRT ST Bt TTE BT STHAIES & et T & SRR Sl §
Area where no energy is produced
C
5 & RT P il S T Bl
Area where Carbon Emissions Are Zero
D

T & Vel I Il [ B

Correct Ans : B

Subject : Environmental Study

Q.No: 94 Gas leaked in Bhopal tragedy was-

2469780
aiiarer i e & S A R e
Potassium isothiocyanate
A
R SRERETE
Sodium isothiocyanate
B
TiRETW STERRNTEE
ethyl isocyanate
c
TR HEHRE
Methyl isocyanate
D
TrTge SMEEERAe
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Correct Ans : D

Subject : Environmental Study

Q.No: 95 The first necessity of ecosystem is

2470135
TIRFRUTET F1 TUH el 3-
Water
A
Ll
Energy
B
St
Nitrogen
C
ARG
Oxygen
D
SffefterT

Correct Ans : B

Subject : Environmental Study

Q.No: 96  Which of the following strategies seems most appropriate for teaching maps to primary graders?
2470293

WtE FR B AR dgH F e Fufif@d # § S €@ ol gad Suged @R 82

Drawing of the map by the teacher on the black-board and asking learners to locate different places

A
e gRT 1P 1S R a0 S IR e & fafvr it &1 e @ F g s
Instructing learners to bring the map of India from their home
B
el 7 S7F TR { HRA T TR TH B G
Showing an atlas to learners and asking them to locate different places
c
et 71 v teert R ok 3% Rt wi &1 gar aH F Rig we
Facilitating learners to construct maps of their immediate surroundings by using their own symbols and focusing on relative position and direction of things
D

Rienffdt &) S W@d F et o1 ST TR AR <ol B Ay R IR R R o IR TS ST AU F AFARE T F R e HAT

Correct Ans : D

Subject : Environmental Study

Q.No: 97 Maloca is a type of
2470598

Tciieh] T UbR BT 2l
Food

@

Animal

Bird

House

HPH
Correct Ans : D

Subject : Environmental Study

Q.No: 98 Integrated Watershed Management Programme (IWMP) launched in which year
2472301
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UBHIPd qIeRRIS TaeT FhwH (IWMP) v af = fosar mare

2001
A

2001

1990
B

1990

1988
C

1988

2002
D

2002

Correct Ans : B

Subject : Environmental Study

Q.No: 99 Plants with weak stems that cannot stand upright but spread on the ground are called?
2472547

HHIR A a1d DY N W @2 7 ) Wb A ol R B gu €, weaa §2

Climbers
A
EC]
Creepers
B
ol
Herbs
C
LSk
Shrubs
D
it

Correct Ans : B

Subject : Environmental Study

Q.No: 100 Who first propounded the theory of social evolution?

2472553
e fasre @1 Rigid, Fduyn e ufauiea fear
Aristotle
A
SREL
Darwin
B
S
Herbert spencer
C
T TR
Skinner
D
e

Correct Ans : C

Subject : Environmental Study

Q.No: 101 What kind of fruits will the dentist tell to eat for the relief of toothache?
2472648

4d fafere A <E FMaRu & o 60 T8 $ Ba @F 1 Ham?

A Dry fruit
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T Bl

Fresh fruit
B

=

Sour and juicy fruits
(o}

|g IR R B

Sweet and tangy fruit
D

IS 7d TeeR wd
Correct Ans : C

Subject : Environmental Study

Q.No: 102 Beri-Beri is caused due to deficiency of-
2472715

-3 e 90 F SR g 8-

Vitamin B1

e B1

Vitamin B2

et B2

Protein

o

Enzymes

TSR
Correct Ans : A

Subject : Environmental Study

Q.No: 103 The house of monkey, lion and rat are sequentially

2472991

R, Rig iR 9@ &1 W Fuw: §-

Nest, tree and cave
A

Hiwar, U8 SR T

Cave, burrow and tree
B

o, 9 ok I

Tree, cave and burrow
Cc

g, %1 g fo

Burrow, tree and cave
D

g, U ok T
Correct Ans : C

Subject : Environmental Study

Q.No: 104 HERMES is a mission by:

2474089
39 (HERMES) fe% gRI U@ iR 82
NASA

A
T
DRDO

B
Ser.3eh.
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C JAXA

ISRO

™

Correct Ans : A

Subject : Environmental Study

Q.No: 105 As per World Seed Trade Statistics, India has largest size of domestic seed market in the world.
2475753

fay v MR WISt & SR, URd & g1 & R e SOR &1 T §ST IR Tl

5th
A

5th

6th
B

6th

7th
C

7th

10th
D

10th

Correct Ans : B

Subject : Environmental Study

Q.No: 106 The first fertilizer factory in India was opened in:

2475767
URT H Gy IRE SRGMT Fel @l 77 41 ?
Kerela
A
E2G]
Tamil Nadu
B
BlEEES]
Andhra Pradesh
C
sy TR
Karnataka
D
Frled

Correct Ans : B

Subject : Environmental Study

Q.No: 107 India is the largest producer of oilseeds in the world. Is the statement correct?

2475769
URA 3y § fee &1 T4 T8I SURS ¢ T FYF e 82
Yes
A
L
No
B
Rl
India does not produce oilseeds
C
e H Rierg 31 Saer 78 S 3
D Can’t be determined
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e =¥ o o e €

Correct Ans : A

Subject : Environmental Study

Q.No: 108 Which of the following is not a physical farm input?

2475844
Frofafaa & & w0 e S P 76 82
Sunshine
A
v
Labour
B
Lt
Soil
C
7o
Rainfall
D
auf

Correct Ans : B

Subject : Environmental Study

Q.No: 109 Which of the following is a traditional way of irrigation?

2475860
Fufefe & A 3 w1 Rigg &1 uruRe s 82
Subsurface drip system
A
Iugas f3u
Chain pump
B
EERt
Sprinkler system
C
fogoE d
Drip system
D
fguda

Correct Ans : B

Subject : Environmental Study

Q.No: 110 Tea bushes require and moist
2475960

climate all through the year

A ASA R IMIR/UaHR |, Wik Sqag & awadmde 8l

cool, full of frost

A

S, Tl areit

cool, frost-free
B

&3, UaRfd

warm, full of frost
C

IO, YA aTedt

warm, frost-free
D

HIW], qrARTed
Correct Ans : D

Subject : Environmental Study
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Q.No: 111 Which country is the largest produces of green peas in the world?

2475987
Y 7 &8 Her 31 Ao ST IUEH S B W 32
China
A
9.
Brazil
B
EICiS]
Australia
Cc
efmm
Canada
D
CZIS)

Correct Ans : A

Subject : Environmental Study

Q.No: 112 hich stadium is considered the biggest cricket stadium based on capacity?

2476514
ST (FARI) F oMUR W g Rfgam o 9l g1 e R fyam wE S §2
Narendra Modi Stadium
A
5 A wRigmA
Melbourne Cricket Ground
B
Taad fpde TSS
Lords
C
B
Eden Gardens
D

ESERIRE:]
Correct Ans : A

Subject : Environmental Study

Q.No: 113 What are NOT the benefits of using an activity approach for an EVS teacher?

2477244
$diew Riere $ g fpan suiika w2l & Sudm 537 & 01 98 T8 2
It takes less time to prepare than a lecture or a demonstration
A
I T S XA @t gar H SO § 7 6 e §
it will promote and support by providing a range of appropriate educational material and ideas
B
Tg SUgE JeE ARl iR AR 3 te fEa YeH w¥e YER SR 9 ST
it does not add any extra burden
Cc
7 B Sk S ToT T §
Creative use of materials will satisfy students
D

TRt T XIS SUGNT BH BT UGS P

Correct Ans : A

Subject : Environmental Study

Q.No: 114 Practical skills help in improving drawing skills of students in which of the following ways?
2477314
1. Drawing circuit diagrams

2. Drawing maps from unobserved data
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 30/42
Page - 30



Choose the correct code

WP S Fafifad § 3 e ale 3 ol & ST ST § guR $ 3 7ag 33 82
1.3l uRwy g

2. 3fdele 7 fPT 7T a1 F ERE T

QIS I

1 only

&ad 1

2 only

Fad 2
both 1 and 2

ST 1 ek 2

neither 1 nor 2

a1 eRA®R2

Correct Ans : C

Subject : Environmental Study

Q.No: 115 In which method of teaching economics, the teacher and students together understand the economics theories using reality shows like situation?
2477394

srefene ugl @1 o ugfa A Rigre 3R B e Rafedt 0 Sl Rufd o1 Sudln axd srifza & Rigid! & a93a 82

Discussion

A

<=t

Simulation games in Economics
B

s & Rigaee @

Problem based learning
C

IR - T e

Learning through concept maps
D

SQURUT AHFRET & ATe § ST

Correct Ans : B

Subject : Environmental Study

Q.No: 116 Learning resources can be broadly classified into:
2477398

i. Institutional resources

ii. Media resources

iii. Human made resources

iv. Confidential resources

Choose the correct code.

ST F W B AR 9R R wifed f@ar o e g A
i. RIS e

ii. W& Tes

iii. A PR des

iv. Mo HEe

Only iv

Fad iv

Only i and iii

Fad i AR i
C Only iii and iv
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S i IR iv

Only i, ii and iii
Fad i,ii 3R i

Correct Ans : D

Subject : Environmental Study

Q.No: 117 Which town is not a part of Taj Trapezium?

2477854
T W R Aol SR T o T 82
Agra
A
STRI
Firozabad
B
frreare
Mathura
C
g
Gaziabad
D
RUEEISIC

Correct Ans : D

Subject : Environmental Study

Q.No: 118 Which of the following is NOT a hazard that is both natural and man-made?

2477911
PufeRea & A ol a1 G sival el 8 S wipfae oIk wrg fffa <41 8 wd 82
Wars
A
s
Earthquake
B
ks
Forest-fire
C
S (WRE-HRR)
Landslide
D
e cet

Correct Ans : A

Subject : Environmental Study

Q.No: 119 The process of people moving away from congested urban areas to cleaner areas outside the city in search of a better quality of living is called what?
2477930

e Bt JgR Torae Bt JaRr A feurs a1a wed & F TeR F AR W & A ARt & ST B Ui B 1 FeT o 82

Urbanization

A
Euricau
Sub Urbanization
B
[ TR
Ruralization
C
TeftoftesRor
D Localization
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 32/42

Page - 32



RIS

Correct Ans : B

Subject : Environmental Study

Q.No: 120 Which of the following shows climate, soil, forest areas, resources, rainfall, etc.?

2478700
fFrafeied 7 & o Stearg, e, o &6, ST, o offe @1 ude B 82
Physical Maps
A
Wiepferp AR
Political Maps
B
Sl HAR
Economic Maps
C
e TR
Social Maps
D

IS AFRE

Correct Ans : A

Subject : Environmental Study

Q.No: 121 The changes that occur in development are seen as-
2473579

e # 1 9t 3R WA | -
Physical
A
IR
Creative
B
HATHSD
Destructive
C
fommers
Creative and Destructive
D

S 19 RS
Correct Ans : D

Subject : Child Developement

Q.No: 122 Development is a process.
2473586
slow
A
A
continuous
B
R®
fast
C
iy
medium
D
ey

Correct Ans : B

Subject : Child Developement

Hereditv nlavs most imnortant role in the -
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Bt T il T

Q.No: 123
2473731
P o Fgeaqof i R @
Emotional development
A
HIHS B
Cultural development
B
Tigfie e
Physical development
C
TR e
Social development
D

Ao T

Correct Ans : C

Subject : Child Developement

Q.No: 124 Which one of the following sequences of steps is the correct way of preparing a balanced question paper?

2474272

PR sl § 3 1 I w8 T TUR 3 @1 98 R 2

preparing a design, preparing a blueprint, writing and editing the questions, writing the marking scheme
A

TP RO 3R T, T i R BT, Wl Y R ST WUIe A1, Yol Wi o) fergn

preparing the design, writing the questions, preparing the marking scheme, matching with the blueprint
B

e AR F1, Ul 1 e, A W9 OOR S, Wi A e e

writing and editing the questions, matching with the design, preparing the blueprint, writing the marking scheme
C

Wy g IR e FRA, FEeEH & A R, It AR R, el i g

writing the questions, preparing the blueprint, matching with the design, writing the marking scheme
D

wy forge, sqfife SOR B3, oI & A A o, Teaie W Rgn

Correct Ans : A
Subject : Child Developement

Q.No: 125 Verbal and non-verbal individual group, power, speed standardized or non-standardized test are examples of

2474442
A iR IR s Tag, W, TR qFeipa a1 IR RS wdem ¥ Jare 31
projective methods
A
yéures fafdt
psychological methods
B
T faftwt
longitudinal tests
c
e wltemr
cross sectional methods
D

T FHg faft
Correct Ans : B

Subject : Child Developement

Q.No: 126 Which of the following is not an acquired trait of a learner?
2474509

e # & SH-u1 T el o1 aifefa gor T 82

A height
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s

cultural outlook

B
repfae e
education
(o4
R
manners
D
RigrEr

Correct Ans : A

Subject : Child Developement

Q.No: 127 NUEPA is mainly concerned with-

2474634
NUEPA T %0 & foad Tefid §-
Educational Supervision
A
A whigm
Educational Unity
B
e T
Educational Planning
C
Here A
Educational Evaluation
D

A i
Correct Ans : C

Subject : Child Developement

Q.No: 128 In learning disabilities, the name for mathematical disorder is:

2475374
g 3 sierran (affn f$AfRfed) #, ity fer &19m 3:
Dyspraxia

A
e
Dyslexia

B
ToifcRran
Dyscalculia

c
feusagpiem
Dysphasia

D
fe<ifen

Correct Ans : C

Subject : Child Developement

Q.No: 129 Which of the following are the characteristics of counseling process?
2475441

1. Professional service

2. Centre-problem of client

3. Client made discussion

4, Personal involvement with the client

Select the correct answer using the codes given below

P % & o wme ufihar & qo-w 82
1. O qa1
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2. TR B G B %

3. Temgs Fffa ==

4. RS P 1Y AfRNTT Fo1d

1 feu T @ls &1 TR HRA §Y Tel W BT T DY

1and 2
A
18R 2
land 4
B
13R 4
All of the given options
C
Ry g wi fawea
1,2and3
D
1,28R 3

Correct Ans : D

Subject : Child Developement

Q.No: 130 The ability to use large muscles of body is called . The ability to use small muscle of the body is called
2476274
TRR B St AGURET DT IUUN A D &l DI FT I 1 YRR BT B AR $T ST FRA B & B
gross sensory sKkills, fine sensory skills
A
T Y3 BN, YA T B
gross motor skills, fine motor skills
B
Thd AR HIRG, S HleR BN
gross muscle skills, fine muscle skills
C
T AN P, S AW DI
fine muscle skills, gross muscle skills
D

Bt el BRI, THa TUN P

Correct Ans : C

Subject : Child Developement

Q.No: 131 To get a creative thinker we need to know

2476729
Ue T [daRE B ¥ fore o ar ST SiaRa 3
the kind of thinking that characterized a person
A
I e I U S et s @it e gt §
his score on an intelligence test
B
T IS T W ITHT 3iF
both thinking on score on intelligence test
(o4
T gfE THeT W 3iF
inductive and deductive thinking scores
D

SIS IR RS IF i

Correct Ans : A

Subject : Child Developement

Q.No: 132 Interests are usually classified on the basis of the nature of involved.
2476892
R BT AR W W P Ul & YR TR e fpar STl €1
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A acuvily

Tfefafy

people

Rl

generation

it

status

fRufer
Correct Ans : A
Subject : Child Developement

Q.No: 133 1In a primary school, the teacher took all the children to the post office. Which of the following is the learning objective behind such a visit?
2476910

o it fere § Riew ait = ) S| d U 39 e S ok & Uy den o St Refifa A3 s an g

Entertainment

A
RS
Excursion
B
*®
Social participation
C
TR HRfiert
Exposure
D
SR

Correct Ans : C

Subject : Child Developement

Q.No: 134 According to the Juvenile Justice Act, 2015, a “child” means a person who has NOT completed years of age.
2477662
e = e, 2015 F AR, "HUR (TRwE)" 31 f 39 ofd 3 @ Rea 9 @} o I T BV )
15
A
15
18
B
18
20
Cc
20
21
D
21

Correct Ans : B

Subject : Child Developement

Q.No: 135 The concept of inclusive education is based on
2478118

Forasit fRiem 3 sr@eRon TR e §

Rights of the children with disability only

Faa fwan a=1 & AReR

B Rights of the teachers to get trained
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et 31 uiRfad 3 31 PR

Rights of all the children to learn together

it 5= B T TN TR FT SR

Rights of the children from diverse background only

Fad fafay gy & 7= & SiieR

Correct Ans : C

Subject : Child Developement

Q.No: 136 According to Piaget When a child's existing schemas are capable of explaining what it can perceive around it, it is said to be in a state of
2479069

Tt % SFUR 9 UF 99 F Hive W1 98 TS B e 80 ¢ [ 98 S S-U 1 3% bl §, O 98 76 srawn # Fet e

New Situation

A

= Ry

Equilibrium
B

Hgert

Disequilibrium
c

ST

Confusion
D

i 3 Ry

Correct Ans : B

Subject : Child Developement

Q.No: 137 Under Pavlov’s theory, the light or the sound of bell was?

2479206
uradd & Rigid & aga Az, a1 |98 @t srrars A
Unconditioned stimulus
A
SR S
Unconditioned response
B
SRR Srfman
Conditioned stimulus
C
R S
Conditioned response
D

R srgfean

Correct Ans : B

Subject : Child Developement

Q.No: 138 Suppose an organism is conditioned to elicit a Conditioned Response on presentation of a Conditioned Stimuli. After conditioning is established, and another stimulus similar tc

2479242 Tpis phenomenon of responding similarly to similar stimuli is known as

s yoft &) srefia IEiuw TRd R W eI srfohar v oA & forg el fdmam a1 e Rifid 81 SR & a1e o Srefid SEUE & WAM &1 guv Iediue wRgd faar s d wrofl

Generalisation

A
ERRER
Discrimination

B
e

C Spontaneous Recovery
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| G

Extinction

faraliT

Correct Ans : A

Subject : Child Developement

Q.No: 139 Instrumental purpose orientation belongs to which of the following level of Kohlberg’s theory of moral development.
2479307

T SR A Higaar & e e Rigid 7 w3 3 vy wR 3 i @1

Orientation level

A
SN wR
Conventional level
B
IRURS ¥R
Preorientation level
C
s wR
Preconventional level
D

d-URuRe &R
Correct Ans : D

Subject : Child Developement

Q.No: 140 Which of the following is not one of the subdivisions of content under the theory of intelligence propounded by Guilford?
2479741

Fofafed # & o9 fwS gri vfaufed gis & Risia & ded fawaawg (Hée) & Iudsl § 4 t@ 6l 82

Visual

A
= (fagerm)
Semantic

B
g A (Redifew)
Symbolic

C
vdiwrars (Risikiew)
Evaluation

D
el (SATITR)

Correct Ans : D

Subject : Child Developement

Q.No: 141 Which of the following is NOT a schedule of Reinforcement?

2479865
Fafafed # § S gedioru 31 S T8 82
Fixed Interval Schedule
A
FAferr sferrer ot
Variable ratio Schedule
B
ORad-tr ST SRSt
Ratio Variable Schedule
C
S ufaa ST
Variable Interval Schedule
D

eI SieRTer St
Correct Ans : C
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Subject : Child Developement

Q.No: 142 Which of our actions and behaviour are directed by emotions?
2480070
I. Internal

II. External

TR $H I B 3R HagR HAT gRT & R g 2
1. sffaRa
1L, STedt

Only Iis true

Fad 1 I B

Only II is true.

Fad 11 94 g1

Both I and II are correct

13RI AT ot §

Neither I nor II is correct.

TAIIRAN I TG R

Correct Ans : C

Subject : Child Developement

Q.No: 143 Teachers should look at ___ as a social, cultural and political phenomenon among children?
2480105
Repidl @ 5= & fF9 06 G, ARplad 3R Aeriiae 9ol & 0 H $& Ai?
Parents
A
T - e
Children
B
=
Religion
C
o

Administration

TR
Correct Ans : C

Subject : Child Developement

Q.No: 144 How will you deal with a student who ignores all your commands?

2480191
319 T O fendf & Wy B e, o smuast ot sirmel 3t 30en wRan 82
Talk to him and ask the issue
A
TR 919 B4T AR gEEn g
Negatively reinforce him
B
I TERES Y F Yeg 4l
Positively reinforce him
c
I IHRIETF U ¥ Geg Bt
Talk to him and ask the issue and negatively reinforce him
D

T T BT AR TR T SR I TERIEE ¥ q geg F

Correct Ans : A
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Subject : Child Developement

Q.No: 145 A child always read and write 'b' as 'd". Which of the following problem is he is suffering from?

2480259

TF 1 G 'b' &l 'd' F &9 F Ygar iR feraar 31 95 fFufufaa § 3 fra wown § difsa 32

Learning difficulty
A

T P

Mental retardation
B

AR Hear

Visual impairment
Cc

=N

Hearing impairment
D

0 A

Correct Ans : A

Subject : Child Developement

Q.No: 146 The National Curriculum Framework, 2005 suggests which of the following examination reforms?

2480655
TP ureTTal Uk, 2005 Ao FE # ¥ frg wher wEh U & g w3
Class X examination optional
A
FE-X P Wen DT
State level exams to be conducted at different stages of school education
B
ferererdt faen &1 fafira sravrell R T5d WR $ wlan FareE
Competitive entrance examinations optional
c
ufErT vaw adiend e
All of the given options
D

faw T Wt fawe

Correct Ans : A

Subject : Child Developement

Q.No: 147 Which of the following represents a pilot school for the collaboration with the Faculty of Health Sciences for the placements of students undertaking the practical component of
2480815

Fofifa & 3 FF T Ted 3 Graal & ARG e R B/ TRY $4 a1d BF! 3 el & g W e Jom & @y Jgai & RiT e vE W of ueffia aa 82

Sivuyiseni Primary

A
e e
Intshayelelo Primary
B
Ectcriaiteg
Ummangaliso Primary
C
i R
Montessori
D
Hiewd

Correct Ans : B

Subject : Child Developement

Q.No: 148 In the process of socialisation Parents and parenting style plays a major role. Which parenting style should be adopted by parents?
2480851
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TSR B ufar F Arr-far ok wrr-Rar 3t At vige yfiet Pk @1 - g few g el Bt sioemr s ik

Strict
A

q&=

Relaxed
B

UG

Balanced
Cc

wgfera

Overprotective
D

SferRfaa
Correct Ans : C

Subject : Child Developement

Q.No: 149 What is the formulae of IQ to calculate the by William stern?
2480891

faferam W gRT SISy Bt T FA & fore @ @ ¥

100
IQ = MA XH

A
100
IQ = MA XA
100
IQ = C.AXm
B
100
lQ = C.AXm
M.A
IQ = C.AXW
c
M.A
IQ = C‘AXW
100 100
1IQ = M.Axmande = C.Axmboth
D
100 100
1Q = MAXEx3RIQ = CAxg:

Correct Ans : A

Subject : Child Developement

Q.No: 150 Children are able to reason on the basis of hypotheses and propositions in which stage of cognitive development?

2482229
IS e Bt e saen # a2 aReegrel ok ufamird & enuR | ab w7 § wndf ) o 7
Sensorimotor

A
TS (FiHeR)

Pre-operational

B
yd-sfrarers
Concrete operational

Cc
LEkER
Formal operational

D

SHoaie wirares
Correct Ans : D

Subject : Child Developement
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